
MATHS

BOOKS - MTG WBJEE MATHS (HINGLISH)

THREE DIMENSIONAL GEOMETRY

We Jee Workout Category 1 Single Option Correct Type

1. The vector equation of the plane

 is

A. 

B. 

C. 

D. 

Answer: C

r̄ = (2 î + k̂) + λî + μ( î + 2ĵ − 3k̂)

→
r . (2 î + 3ĵ + 2k̂) = 2

→
r . (2 î + 3ĵ − 2k̂) = 2

→
r . (3ĵ + 2k̂) = 2

→
r . (3ĵ − 2k̂) = 2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SxdYTUtK6Nwg


Watch Video Solution

2. Find the vector equation of a plane which is at a distance of 4 units

from the origin and which has  as the normal vector.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2 î − 3ĵ + 6k̂)

→
r . (2 î − 3ĵ + 6k̂) = 28

→
r . (2 î + 3ĵ + 6k̂) = 28

→
r . (2 î − 3ĵ + 6k̂) = 0

→
r . (2 î − 3ĵ + 6k̂) = − 28

3. Find the angles made by the line AB with the positive directions of the

coordinate axes, if A is  and B is (0,0,-1).

A. 

(0, √3, 0)

, ,
π

2

5π

6

2π

3

https://dl.doubtnut.com/l/_SxdYTUtK6Nwg
https://dl.doubtnut.com/l/_eu4dpIm5Inbw
https://dl.doubtnut.com/l/_2uVuwOJ2HWvj


B. 

C. 

D. 

Answer: A

Watch Video Solution

, ,
π

2

π

3

π

6

, ,
π

2

5π

6

π

3

, ,
π

3

π

6

5π

6

4. Find the value of so that the lines 

are perpendicular to each other.

A. 

B. 

C. 

D. 

Answer: A

= = and = =
−(x − 1)

3

7(y − 2)

2λ

z − 3

2

−7(x − 1)

3λ

y − 5

1

−(z − 6)

5

70
11

7
11

17
11

71
11

https://dl.doubtnut.com/l/_2uVuwOJ2HWvj
https://dl.doubtnut.com/l/_rYyJoZEUb4Zm


Watch Video Solution

5. If a line drawn from point (1, 2, 1) is perpendicular to the line joining

points (1, 4, 6) and (5, 4, 4), then the foot of the perpendicular is

A. (2, 4, 5)

B. (3,4,1)

C. (3,4,5)

D. (3,0,5)

Answer: C

Watch Video Solution

6. Find the shortest distance between the lines given by 

A.  units

= = and = =
x − 8

3

y + 9

−1

z − 10

7

x − 1

3

y − 2

8

z − 5

−5

68

√514

https://dl.doubtnut.com/l/_rYyJoZEUb4Zm
https://dl.doubtnut.com/l/_a1XogEXFkZQs
https://dl.doubtnut.com/l/_yY8UeoxrFCGL


B.  units

C.  units

D.  units

Answer: C

Watch Video Solution

86

√541
206

√514
321

√514

7. Find the point of intersection of the lines 

A. (-2,1,3)

B. (2,1, -3)

C. (2,3,1)

D. (2,-1,3)

Answer: B

Watch Video Solution

= = and = =
x + 1

−3

y − 3

2

z + 2

1
x

1

y − 7

−3
z + 7

2

https://dl.doubtnut.com/l/_yY8UeoxrFCGL
https://dl.doubtnut.com/l/_1AodzZHt28M1


8. The equation of the plane which is at a distance of 5 units from the

origin and whose normal has the d.c.'s  is

A. 6x – 2y – 3z = 35

B. 6x + 2y - 3z = 50

C. 3x – 12y + 4z = 26

D. 

Answer: A

Watch Video Solution

, − , −
6

7

2

7

3

7

2x + y + z = 3√11

9. Find the equations of the plane parallel to the plane

 


which are at a distance of 2 units from the point (1, 1, 2).

A. x + 2y + 2z - 1 = 0, x + 2y + 2z + 13 = 0

x + 2y + 2z + 8 = 0

https://dl.doubtnut.com/l/_1AodzZHt28M1
https://dl.doubtnut.com/l/_TIu9ia53NQ3M
https://dl.doubtnut.com/l/_svj8PXaTekl5


B. x + 2y + 2z + 1 = 0, x + 2y + 2z - 13 = 0

C. x + 2y + 2z - 1 = 0, x + 2y + 2z - 13 = 0

D. x + 2y + 2z + 1 = 0, x + 2y + 2z + 13 = 0

Answer: C

Watch Video Solution

10. Direction cosines of the line passing through A(2,3, -1) and B(-3, 4, 2)

are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

, ,
−5

√35

1

√35

3

√35

, ,
5

√35

1

√35

4

√35

, ,
−7

√83

3

√83

−5

√83

, ,
−5

√83

−7

√83

−3

√83

https://dl.doubtnut.com/l/_svj8PXaTekl5
https://dl.doubtnut.com/l/_GbvX5ftpcE3W


11. The lines  are

A. perpendicular

B. parallel

C. intersecting

D. skew

Answer: B

Watch Video Solution

= = and = =
x

1

y

2
z

3

x − 1

−2

y − 2

−4

z − 3

−6

12. The shortest distance between the lines x=y+2 = 6z-6 and x + 1 = 2y = -

12z is

A. 

B. 

C. 

1

2

2

1

https://dl.doubtnut.com/l/_GbvX5ftpcE3W
https://dl.doubtnut.com/l/_T4yAuW5NGg3q
https://dl.doubtnut.com/l/_ChJFe7Dn0tFT


D. 

Answer: B

Watch Video Solution

3

2

13. If the lines 

x=ay +b, z=cy+d and  are perpendicular, then

A. 

B. 

C. ad' + cc' =-1

D. aa' + cc' = 1

Answer: C

Watch Video Solution

x = a' y + b' , z = c' y + d'

+ = − 1
a

a'

c

c'

+ = 1
a

a'

c

c'

https://dl.doubtnut.com/l/_ChJFe7Dn0tFT
https://dl.doubtnut.com/l/_nNPsm6WszfEJ


14. The equation of plane passing throught the point (1 ,2 ,3) and the

direction cosines of the normal to which are  is

A. lx+ my + nz=l+ 2m + 3n

B. lx + my + nz=1

C. 

D. 

Answer: A

Watch Video Solution

l, m, n

+ + = 0
x − 1

l

y − 2

m

z − 3

n

+ + = 0
lx

1

my

2
nz

3

15. The angle between the line  and the plane 

 is

A. 

B. 

C. 

= =
x + 1

2

y

3

z − 3

−6

10x + 2y + 11z = 8

sin− 1( )
4
21

sin− 1( )
4
7

sin− 1( )
8

21

https://dl.doubtnut.com/l/_OFoPOBFzeXo6
https://dl.doubtnut.com/l/_eib7isy3fEPl


D. 

Answer: C

Watch Video Solution

sin− 1( )
8

7

16. Points (3, 2, 4), (4,5,2), (5,8, 0) are

A. collinear

B. vertices of equilateral triangle

C. vertices of isosceles triangle

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_eib7isy3fEPl
https://dl.doubtnut.com/l/_X8vYfjtCHsID


17. Find the cartesian equation of the plane whose vector equation is

A. 3x + 5y + 72+8=0

B. 3x - 5y +72-8=0

C. 3x - 5y - 72 +8 = 0

D. 3x - 5y +72+8=0

Answer: D

Watch Video Solution

→
r . (3 î − 5ĵ + 7k̂) + 8 = 0

18. Find the distance of a point  from the line 


.

A. 9 units

B. 6 units

C. 1 unit

(2, 4, − 1)

= =
x + 5

1

y + 3

4

z − 6

−9

https://dl.doubtnut.com/l/_uoQ6Zhj1GV1p
https://dl.doubtnut.com/l/_OOUCvZ4ZFKkL


D. 7 units

Answer: D

Watch Video Solution

19. A plane which passes through the point (3, 2, 1) and the line

 is

A. 5x - y= 13

B. x+y+z= 6

C. 5x + y – 2z = 12

D. 5x – y + z = 14

Answer: A

Watch Video Solution

= =
x − 4

1

y − 7

5
z − 4

4

https://dl.doubtnut.com/l/_OOUCvZ4ZFKkL
https://dl.doubtnut.com/l/_EvwQ66UD0hqK


20. show that the line whose vectors equation is

 is parallel to the plane whose

vectors equation is . Find also the distance between

them.

A.  units

B.  units

C.  units

D.  units

Answer: A

Watch Video Solution

→
r = (2 î − 2ĵ + 3k̂) + λ( î − ĵ + 4k̂)

→
r . ( î + 5ĵ + k̂) = 5

10

√27
5

√27

4

√27
8

√27

21. Which of the following is true?

A.  are the direction cosines of a directed line.

B.  are the direction cosines of a directed line.

, ,
2

√2

−2

√3

−1

√3

, ,
−2

√3

−2

√3

−1

√3

https://dl.doubtnut.com/l/_N0OcXI995pYx
https://dl.doubtnut.com/l/_Fs1MZvHEJTWd


C.  are not the direction cosines of a directed line.

D.  are not the direction cosines of a directed line.

Answer: C

Watch Video Solution

, ,
2

√3

−2

√3

−1

√3

, ,
1

√3

−1

√3

−1

√3

22. The vector form of the equation of the line passing through the

points ( 3, 4, -7) and (5, 1 , 6) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r = (3 î + 4ĵ − 7k̂) + λ(2 î − 3ĵ + 13k̂)

→
r = (3 î + 4ĵ − 7k̂) + λ(8 î + 5ĵ − k̂)

→
r = (3 î + 4ĵ − 7k̂) + λ(2 î − 3ĵ − k̂)

→
r = (3 î + 4ĵ − 7k̂) + λ(2 î − 3ĵ − 13k̂)

https://dl.doubtnut.com/l/_Fs1MZvHEJTWd
https://dl.doubtnut.com/l/_aVcQxdkAln7f
https://dl.doubtnut.com/l/_jrLDypNmuvnI


23. The vector equation of the plane passing through the point (-1, 2,-5)

and parallel to the vectors  and  is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

4 î − ĵ + 3k̂ î + ĵ − k̂

→
r . ( − 2 î + 7ĵ + 5k̂) = 13

→
r . ( − 2 î + 7ĵ + 5k̂) = − 13

→
r . ( − 2 î + 7ĵ + 5k̂) = − 9

→
r . ( − 2 î + 7ĵ + 5k̂) = 9

24. The points (5, -1,1)(7,4,7), (1, -6, 10) and (-1, -3, 4) are the vertices of a

A. trapezium

B. rhombus

C. rectangle

D. None of these

https://dl.doubtnut.com/l/_jrLDypNmuvnI
https://dl.doubtnut.com/l/_QJkxnq5Y3JOL


Answer: D

Watch Video Solution

25. Let  be the position vectors of points A and B with respect to

and . The points Cand D divide AB internally and

externally in the ratio 2: 3 respectively. If  are perpendicular,

then

A. 

B. 

C. 9a=4b

D. 4a=9b

Answer: A

Watch Video Solution

→
a ,

→
b

∣
∣
→
a ∣

∣ = a,
∣
∣
∣

→
b

∣
∣
∣

= b

−−→
OC and

−−→
OD

9a2 = 4b2

4a2 = 9b2

https://dl.doubtnut.com/l/_QJkxnq5Y3JOL
https://dl.doubtnut.com/l/_RMW5VLFvwqbu


26. The lines joining the points (1, 2, 3), (4, 5, 7) and (-4,3,-6), (2, 9, 2) are

A. coincident

B. parallel

C. intersecting

D. None of these

Answer: B

Watch Video Solution

27. If  then the vector 

such that  is

A. 

B. 

C. 

D. 

→
a = î + 2k̂,

→
b = î + k̂,

→
c = 7 î − 3ĵ + 4k̂,

→
d

→
d ×

→
b =

→
c ×

→
b ,

→
a .

→
d = 0

2 î − 5ĵ + 2k̂

−2 î + 4ĵ + k̂

2 î − 8ĵ − k̂

2 î − k̂

https://dl.doubtnut.com/l/_otiVSryqtugJ
https://dl.doubtnut.com/l/_QzMXWGQQxkFi


Answer: C

View Text Solution

28. Find the vector equation of the plane passing through the points (1, 1,

1), (2, 4, 3) and (5,9,7).

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→
r . ( î + ĵ + 2k̂) = 0

→
r . ( î + ĵ − 2k̂) = 2

→
r . ( î + ĵ − 2k̂) = 0

→
r . ( î − ĵ − 2k̂) = 4

29. If the lines 

intersect, then find the value of k.

= = and = =
x − 3

2

y + 1

3

z − 2

4
x − 4

2

y − k

2
z

1

https://dl.doubtnut.com/l/_QzMXWGQQxkFi
https://dl.doubtnut.com/l/_8HkEhfcHWZns
https://dl.doubtnut.com/l/_pem7GSaR6WpH


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

9

2

2

9

−
3

2

−
5

6

30. The plane whose vector equation is  and the

line whose vector equation is 

are parallel. Find the distance between them.

A.  units

B.  unit

C.  units

D.  units

→
r . ( î + 2ĵ − k̂) = 1

→
r = ( − î + ĵ + k̂) + λ(2 î + ĵ + 4k̂)

2

√5

1

√6

3

√6

4

√6

https://dl.doubtnut.com/l/_pem7GSaR6WpH
https://dl.doubtnut.com/l/_I6ouWpKAFlmZ


We Jee Workout Category 2 Single Option Correct Type

Answer: B

Watch Video Solution

1. The angle between the lines passing through the points (8, 2, 0), (4, 6,

-7) and (-3, 1, 2), (-9, -2, 4) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos − 1( )
2

63

cos − 1( )
20

63

π

2

π

5

https://dl.doubtnut.com/l/_I6ouWpKAFlmZ
https://dl.doubtnut.com/l/_JpZaTIJRsAr6


2. The vector equation of the plane passing through the points

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, − 2, 1), (2, − 1, − 3) and (0, 1, 5)

→
r . ( î − 4k̂) = 5

→
r . ( î + 4k̂) = 5

→
r . (4 î − k̂) = 5

→
r . (4 î + k̂) = 5

3. Find the angle between the lines

.

A. 

B. 

= = and = =
x − 2

3

y − 3

6
z − 4

8

x + 2

2

y + 3

5
z + 4

9

cos − 1( )
108

√11990

cos − 1( )
99

√9701

https://dl.doubtnut.com/l/_2djWmKoPw5Pt
https://dl.doubtnut.com/l/_s7NccfeFpERU


C. 

D. 

Answer: A

Watch Video Solution

cos − 1( )
9

√9701

cos − 1( )
10

√9701

4. The angle between  line of the intersection of the plane

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

î

→
r . ( î + 2ĵ + 3k̂) = 0 and

→
r . (3 î + 3ĵ + k̂) = 0

cos − 1( )
7

√122

cos − 1( )
6

√122

cos − 1( )
8

√122

cos − 1( )
3

√122

https://dl.doubtnut.com/l/_s7NccfeFpERU
https://dl.doubtnut.com/l/_gxrBTwrHEOU0


5. The lines

 are

A. parallel

B. non-intersecting

C. intersecting

D. None of these

Answer: C

Watch Video Solution

→
r = ( î + ĵ) + λ( î + k̂) and

→
r = ( î + ĵ) + μ( − î + ĵ − k̂)

6. Find the equation of the plane passing through the intersection of the

planes 

3x + 2y - z + 1 = 0 and x + y + z - 2 = 0 and the point (2, 2, 1).

A. x - 4y - 132 = 23

B. x + 4y - 132 = 23

https://dl.doubtnut.com/l/_RTEZk9MVsz2A
https://dl.doubtnut.com/l/_mDqfveFJQZYH


C. x - 4y + 132= 23

D. x + 4y + 13z = 23

Answer: D

Watch Video Solution

7. Show that the lines and 

are coplanar.

A. coplanar

B. non-coplanar

C. parallel

D. perpendicular

Answer: A

Watch Video Solution

= =
x − a + d

α − δ

y − a

α

z − a − d

α + δ

= =
x − b + c

β − γ

y − b

β

z − b − c

β + γ

https://dl.doubtnut.com/l/_mDqfveFJQZYH
https://dl.doubtnut.com/l/_ritHxs47tQzS
https://dl.doubtnut.com/l/_XocfBNS4nmVV


8. The angle between the lines

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r = (2 î − 5ĵ + k̂) + λ(3 î + 2ĵ + 6k̂) and

→
r = (7 î − 6k̂) + μ( î + 2ĵ

cos − 1( )
19

21

cos − 1( )
1

21

cos − 1( )
9

19

cos − 1( )
9

21

9. If the angle  between the line  and the

plane  is such that . The value of  is

A. 

B. 

θ = =
x + 1

1

y − 1

2

z − 2

2

2x − y + √λz + 4 = 0 sin θ =
1

3
λ

−
3

5

5

3

https://dl.doubtnut.com/l/_XocfBNS4nmVV
https://dl.doubtnut.com/l/_ajLUOYvCeboD


C. 

D. 

Answer: B

Watch Video Solution

−
4
3

3

4

10. If 2d is the shortest distance between the lines

, then

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

x = 0, + = 1, y = 0, − = 1
y

b

z

c

x

a

z

c

+ + =
1

a

1

b

1

c

1

d

+ + + = 1
1

a2

1

b2

1

c2

1

d2

+ + + = 1
1

a

1

b

1

c

1

d

+ + =
1

a2

1

b2

1

c2

1

d2

https://dl.doubtnut.com/l/_ajLUOYvCeboD
https://dl.doubtnut.com/l/_eJDpFP4wdJyv
https://dl.doubtnut.com/l/_26YTDikkPuVz


11. Equation of plane perpendicular to the - plane and passing

through  and  is

A. y + 2z = 5

B. 2y+z=5

C. y + 2z = 6

D. 2y +z = 6

Answer: C

Watch Video Solution

Y Z

(1, − 2, 4) (3, − 4, 5)

12. Find the length of perpendicular from the point (1,1,2) to the plane

.

A.  units

B.  units

C.  units

2x– 2y + 4z + 5 = 0

13√6

5

13√6

12

5√3

6

https://dl.doubtnut.com/l/_26YTDikkPuVz
https://dl.doubtnut.com/l/_GZluBglY4F9s


D.  units

Answer: B

Watch Video Solution

13√5

12

13. The vertices of a  are A(2, 3, 5), B(-1, 3, 2) and C (3,5,-2). The area

of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC

ΔABC

8√3

6√2

8√2

9√2

https://dl.doubtnut.com/l/_GZluBglY4F9s
https://dl.doubtnut.com/l/_QUbCR4bGpzB4


14. The locus of the point which is equidistant from the points (2, -2, 1)

and (0, 2, 3) is

A. 2x - y-z=1

B. x - 2y-z=1

C. x - 2y - 2+1 = 0

D. None of these

Answer: C

Watch Video Solution

15. Find the equation of the line through the point  and

perpendicular to the lines

A. 

B. 

î + ĵ − 3k̂

→
r = 2 î − 3ĵ + s(2 î + ĵ − 3k̂) and

→
r = 3 î − 5k̂ + t( î + ĵ + k̂)

→
r = ( î + ĵ + 3k̂) + λ(4 î − 5ĵ − k̂)

→
r = ( î − ĵ + 3k̂) + λ(4 î + 5ĵ + k̂)

https://dl.doubtnut.com/l/_HZbIEu5rJSKb
https://dl.doubtnut.com/l/_wMcd9vc1XgXJ


We Jee Workout Category 3 One Or More Than One Option Correct Type

C. 

D. 

Answer: D

Watch Video Solution

→
r = ( î − ĵ − 3k̂) + λ(4 î − 5ĵ + k̂)

→
r = ( î + ĵ − 3k̂) + λ(4 î − 5ĵ + k̂)

1. Find the distance of the point (3, 3, 3) from the plane

.

A.  units

B.  units

C.  units

D.  units

Answer: A

→
r . (5 î + 2ĵ − 7k̂) + 9 = 0

9

√78
5

√78
3

√78

4

√78

https://dl.doubtnut.com/l/_wMcd9vc1XgXJ
https://dl.doubtnut.com/l/_R2dQqxxZ3poX


Watch Video Solution

2. Show that the straight lines whose direction cosines
 are given by the

equations 
 are

parallel or perpendicular as

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

al + bm + cn = 0and –̂–– 2 + zm2 = vn2 + wn2 = 0

+ + = 0 or a2(v + w) + b2(w + u) + c2(u + v) = 0.
a2

u

b2

v

c2

w

a2(v + w) + b2(u + w) + c2(u + v) = 0

a2(v − w) + b2(u − w) + c2(u − v) = 0

u2(b + c) + v2(a + c) + w2(b + a) = 0

3. The lines 

are coplanar, if

= = and = =
x − 2

1

y − 3

1
z − 4
−k

x − 1

k

y − 4

2

z − 5

1

https://dl.doubtnut.com/l/_R2dQqxxZ3poX
https://dl.doubtnut.com/l/_FAMG80C8dZZL
https://dl.doubtnut.com/l/_4X0mvTFzEaKo


A. 0

B. 1

C. 

D. 

Answer: A::D

Watch Video Solution

−2

−3

4. Find the vector equation of the plane passing through the intersection

of the planes

 and passing

through the point (1,0,2).

A. 

B. 

C. 

D. 

→
r . (2 î − 7ĵ + 4k̂) = 3 and

→
r . (3 î − 5ĵ + 4k̂) + 11 = 0

→
r . (15 î + 47ĵ + 28k̂) = 7

→
r . (23 î − 119ĵ + 60k̂) = 143

→
r . (15 î − 47ĵ + 28k̂) = 0

→
r . (52 î − 149ĵ + 92k̂) = 0

https://dl.doubtnut.com/l/_4X0mvTFzEaKo
https://dl.doubtnut.com/l/_gQWVgdIbd2Fe


Answer: B

Watch Video Solution

5. Find the shortest distance between the lines given by 

A.  units

B.  units

C.  units

D.  units

Answer: B

Watch Video Solution

= = and = =
x − 2

3

y − 5

−2

z − 1

1

x + 1

2

y + 2

−6

z − 3

1

√29

33

√213

2√2

20√33

6. The angle between the line  and the

plane  is

r̄ = ( î + ĵ − k̂) + λ( î − ĵ + k̂)

r̄. ( î − 2ĵ + 3k̂) = 5

https://dl.doubtnut.com/l/_gQWVgdIbd2Fe
https://dl.doubtnut.com/l/_aQYdeuEpZean
https://dl.doubtnut.com/l/_vfi0vZqzGKLr


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1( )
6

√7

sin− 1( )
6

√21

sin− 1(√ )
6

7

sin− 1(√ )
7
6

7. Which of the following points lie on the plane containing the line

 and the point (0,7, -7)?

A. (0,0,0)

B. (1, 2, -3)

C. (2,-2, 0)

D. (1,2,3)

Answer: A::B::C

= =
x + 1

−3

y − 3

2

z + 2

1

https://dl.doubtnut.com/l/_vfi0vZqzGKLr
https://dl.doubtnut.com/l/_6OR6TtvJEJqq


Watch Video Solution

8. Find the equation of the line passing through the point (1, 2, 3) and

perpendicular to the lines 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= = and = =
x − 1

3

y − 3

1
z − 4
−5

x − 1

1

y − 2

2

z − 3

3

= =
x − 1

13

y − 2

−14

z − 3

5

= = and = =
x − 1

3

y + 5

−8

z − 3

5

x − 1

1

y − 2

2

z − 3

3

= =
x − 1

3

y + 5

−8

z + 2

5

= =
x − 1

3

y − 2

−8

z − 3

5

9. The vector equation of a line passing through the point 

and perpendicular to the vectors  and  is

î + 2ĵ + 3k̂

î + ĵ + k̂ 2 î − ĵ + k̂

https://dl.doubtnut.com/l/_6OR6TtvJEJqq
https://dl.doubtnut.com/l/_x2V0Qs55q3QO
https://dl.doubtnut.com/l/_vW05Wdvop7p3


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( î + 2ĵ + 3k̂) + λ( − 2 î − 5ĵ + 3k̂)

( î + 2ĵ + 3k̂) + λ(2 î + ĵ − 3k̂)

( î + 2ĵ + 3k̂) + λ(2 î + ĵ − k̂)

( î + 2ĵ + 3k̂) + λ(2 î − ĵ − 2k̂)

10. Find the distance of the pont  from the point of

intersection of the ine  and the plane 

.

A. 9 units

B. 13 units

C. 17 units

D. None of these

( − 1, − 5, − 10)

→
r . = 2 î − ĵ2k̂λ(3 î + 4ĵ + 2k̂)

→
r . ( î − ĵ + k̂) = 5

https://dl.doubtnut.com/l/_vW05Wdvop7p3
https://dl.doubtnut.com/l/_vxL6Xu3fh9GZ


Answer: B

Watch Video Solution

11. The projection of the point (1, 3, 4) in the plane

 is

A. (1,3,4)

B. (1, 4,3)

C. (-1,4,3)

D. (-5, 4, 3)

Answer: C

View Text Solution

→
r . (2 î − ĵ + k̂) = − 3

12. A point Q at a distance 3 from the point  lying on the line

joining the points 

P (1, 1, 1)

https://dl.doubtnut.com/l/_vxL6Xu3fh9GZ
https://dl.doubtnut.com/l/_mRIm0CjQUGk7
https://dl.doubtnut.com/l/_pXK0eLHcv00t


 and P has the coordinates

A. (2,3, -1)

B. (4,7,-5)

C. (0,-1,3)

D. (-2, -5,7)

Answer: A::C

Watch Video Solution

A(0, − 1, 3)

13. Find the equations of the two lines through the
origin which intersect

the line 
at angle of 
each.

A. 

B. 

C. 

D. 

= =
x − 3

2

y − 3

1
z

1

π

3

= =
x

1

y

2
z

−1

= =
x

1

y

−1
z

2

= =
x

2

y

1
z

−1

= =
x

2

y

−1
z

1

https://dl.doubtnut.com/l/_pXK0eLHcv00t
https://dl.doubtnut.com/l/_Riy3UanqgoDS


Answer: A::B

Watch Video Solution

14. Find the equations of het planes parallel to the plane


 which are at distance of 2 units from the point 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + 2y − 2z + 8 = 0

(2, 1, 1).

x + 2y − 2z + 4 = 0, x + 2y − 2z − 8 = 0

x − 2y − 2z + 4 = 0, x + 2y − 2z + 8 = 0

x + 2y + 2z + 4 = 0, x + 2y − 2z − 8 = 0

x + 2y − 2z + 4 = 0, x + 2y + 2z − 8 = 0

https://dl.doubtnut.com/l/_Riy3UanqgoDS
https://dl.doubtnut.com/l/_wZ3vKQYuP8MF


We Jee Previous Years Questions Category 1 Single Option Correct Type

15. Which of the following is/are the points that is/are at a distance of 12

units from the point whose position vector is  on the

line which is parallel to ?

A. 

B. 

C. 

D. None of these

Answer: A::B

Watch Video Solution

(8k̂ + 10ĵ − 8k̂)

(2 î + ĵ + 2k̂)

16 î + 14ĵ

6ĵ − 16k̂

(16 î + 18ĵ − 4k̂)

1. The value of  or which the straighat line 

may lie on the plane  (A) 2 (B) 0 (C)  (D) there is no such 

λ = =
x − λ

3

y − 1

2 + λ

z − 3

−1

x − 2y = 0 −
1

2
λ

https://dl.doubtnut.com/l/_GSDboR5ZedLJ
https://dl.doubtnut.com/l/_tZ75spN5pdqZ


A. 2

B. 0

C. 

D. there is no such 

Answer: C

Watch Video Solution

1/2

λ

2. A straight line joining the points (1, I, 1) and (0, 0, 0) intersects the

plane  at

A. (1,2,5)

B. (2,2,2)

C. (2, 1,5)

D. (1, 1, 6)

Answer: B

2x + 2y + z = 10

https://dl.doubtnut.com/l/_tZ75spN5pdqZ
https://dl.doubtnut.com/l/_y3ut4nAfSSAc


Watch Video Solution

3. Angle between the planes  and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y + 2z = 6 2x − y + z = 9

π

4

π

6

π

3

π

2

4. The cosine of the angle between any two diagonals of a cube is

A. 

B. 

C. 

1

3

1

2

2

3

https://dl.doubtnut.com/l/_y3ut4nAfSSAc
https://dl.doubtnut.com/l/_sFKHEArjVxp0
https://dl.doubtnut.com/l/_jceqMHlUYMnh


D. 

Answer: A

View Text Solution

1

√3

5. The equation of the plane through  and  and

parallel to -axis is

A. y-z+1 = 0

B. y-z-1=0

C. y + z - 1=0

D. y+z+1=0

Answer: D

Watch Video Solution

(1, 2, − 3) (2, − 2, 1)

X

https://dl.doubtnut.com/l/_jceqMHlUYMnh
https://dl.doubtnut.com/l/_pd79nalj4XCV


6. Three lines are drawn from the origin O with direction cosines

proportional to (1, -1, 1), (2, -3, 0) and (1, 0,3). The three lines are

A. not coplanar

B. coplanar

C. perpendicular to each other

D. coincident

Answer: B

View Text Solution

7. A point P lies on a line through Q(1, -2, 3) and is parallel to the line

. If P lies on the plane 2x + 3y – 4z + 22 = 0, then segment

PQ equals to

A.  units

B.  units

= =
x

1

y

4
z

5

√42

√32

https://dl.doubtnut.com/l/_ebCr07SlsKJJ
https://dl.doubtnut.com/l/_biRxxcjG7nRb


C. 4 units

D. 5 units

Answer: A

View Text Solution

8. The foot of the perpendicular drawn from the point (1, 8, 4) on the line

joining the points (0, -11, 4) and (2, -3, 1) is

A. (4, 5, 2)

B. (4, 5, 2)

C. (4, -5, 2)

D. (4, 5,-2)

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_biRxxcjG7nRb
https://dl.doubtnut.com/l/_vN8rlywKPr0L
https://dl.doubtnut.com/l/_HkD30X5fN1AK


9. The direction ratios of the normal to the plane passing through the

points (1, 2, -3), (-1, -2, 1) and parallel to  is

A. (2, 3 4)

B. (14, -8, -1)

C. (-2, 0, -3)

D. (1, -2, -3)

Answer: B

Watch Video Solution

= =
x − 2

2

y + 1

3
z

4

10. The equation of the plane, which bisects the line joining the points (1,

2, 3) and (3, 4, 5) at right angles, is

A. 

B. 

C. 

x + y + z = 0

x + y − z = 0

x + y + z = 9

https://dl.doubtnut.com/l/_HkD30X5fN1AK
https://dl.doubtnut.com/l/_gLQ0QyMh6DDD


D. 

Answer: C

Watch Video Solution

x + y − z + 9 = 0

https://dl.doubtnut.com/l/_gLQ0QyMh6DDD

